

[image: image2.wmf]Choose a card from the box.  Solve the problem on the card on a sheet of loose leaf or graph paper.  Show all work.  Repeat the activity with at least two other cards.
	Time in minutes
	Number of stairs climbed

	0
	0

	5
	15

	10
	30

	15
	45

	20
	60
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How many stairs can you climb in 60 minutes?

	Number of Hats Ordered
	Cost

	0
	15.00

	10
	35.00

	20
	55.00

	30
	75.00

	40
	95.00


[image: image4.wmf]
How much will it cost for 125 hats?

	Distance traveled (km)
	Cost

	0
	2.50

	10
	5.50

	20
	8.50

	30
	11.50

	40
	14.50
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How much will it cost to travel 65 km by taxi?

	Time in seconds
	Distance run in meters

	0
	0

	1
	3.2

	2
	6.4

	3
	9.6

	4
	12.8
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How far will she run in 30 seconds?

	Time calling long distance in minutes
	Cost

	0
	5.00

	5
	6.25

	10
	7.50

	15
	8.75

	20
	10.00
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How much will it cost for 70 minutes of long distance calling?
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	Time in hours
	Cost for the electrician

	0
	25.00

	1
	57.50

	2
	90.00

	3
	122.50

	4
	155.00


How much will it cost for a 7 hour job?
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	Number of guests at the party
	Cost for Catering

	0
	125.00

	20
	275.00

	40
	425.00

	60
	575.00

	80
	725.00


How much will it cost to have a party for 150 people?
Pattern Block Puzzles!

Choose a pattern block from the box.  Use the pattern block to make a train by connecting them together touching one side only.  Find the perimeter of each train. Make a sketch of your pattern below to show which pattern you used.  Extend it for at least 6 units.
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Ex.
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Complete the table of values below.

	Number of Units

x
	Perimeter

y

	1
	

	2
	

	3
	

	4
	

	5
	

	6
	

	7
	

	8
	

	9
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	10
	


Sketch a graph of your data.

[image: image1.emf]
Write an equation to describe your pattern.


For each of the problems in the box you will need to create a table of values for each option.  You will then need to sketch a graph of each line and determine where the two lines intersect to solve the problems.

[image: image13.wmf]Be sure to show both graphs on the same grid.  

Accurately label your graphs.

Give clear explanations as to how you solved the problem.

Complete at least three of the problems from the box on graph paper.
[image: image14.wmf]Katie can run 8 m/s and Kelli can run 5 m/s.  They are competing in a 500 m race so Katie tells Kelli she can have a 50 m head start.  When will Katie pass Kelli?  How do you know?
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One cell phone company charges a $10 base fee plus $0.15 per minute.  Another company charges no base fee and $0.25 per minute.  For what number of minutes will these plans give the same cost?  Explain how you know.

[image: image16.wmf]A new gym opens up and offers two different membership options.  One option is to pay a $20 base fee plus $2 per visit.  The other option is to pay no base fee, and $3 per visit.  For what number of visits would both options cost the same?

Kate and Tim have a small business building decorative clocks.  Tim can build 3 clocks in an hour.  He already has 5 built.  Kate can build 4 clocks in an hour.  She already has 3 built.  How long will it be before they have both built the same number of clocks?


One phone company charges a $15 base fee plus $0.10 per minute for long distance.  Another company charges no base fee and $0.35 per minute for long distance.  For what number of minutes will these plans give the same cost?  Explain how you know.

A Video store offers two membership options.  The first membership offer charges a base fee of $25.00 and only $1.50 for each movie rental.  The second option charges a base fee of $10.00 and $3.50 for each movie rental.  For what number of movie rentals will both plans cost the same?
What is the difference between each y value?





Do you see the difference from the table in the graph?  Where is it?








